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Question 2. (10 pas) Which of the following differential 1-forss w are exact on the domain
R\ (0,0)7 Cirele the correct answer.

a) wowdF, for Fizp) =22+
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Question 3. Coasider the initial value problem

Y =siny, »0)=3.
M“mmﬂw—ﬁmehmnwmumdpum
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b) (2 pes) 1f 0, bow many soluticns exis? Wiy
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€) (4 pas) If p(t) s & sobetion to the mitial value probiem,
y =iy, 0)=3
what in limy .o p(¢)7 Justify your response. S
) ; \'.‘“ . \\ ‘\\ '
R R R SRR
T Juwk a1 £ 3 ulh) wll e AT, beowe Woe Y= tan
Sad= Swd Ak b by itrftie. Ty wil ,()md Shk) fopaate un T,
s w O T b b hoereld w& ab gnir \ceaws # nz_?.d‘k
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d) «pu)u.«)umumommmmmmumm
of t does y{t) = =17 Justify your answer.
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Question 4. (10 pts) Scive the initiad value probdem:
"'*m‘o no) =3
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Question 5. (12 pta) Solve the following probilem quatxa
ng.)-cum-.n:m-.ma g . e

(2x
i.603:.f5 v w0)=2
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Question 6. (6 yts) The dferential form

o im Jpidr + (1 + phdy

» ot exact. Find an integration factor of the Soem u(x,y) = uly) %0 that the yroduct

ply) - w s equal 1o dF for some continmwously differentiable functicn Mz, y) on the domain
(0, 00) x (0,00). Nete: you do not need to find this fanctica F, just find p(y).
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